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QUESTION 1

What is NVRAM used for when a node performs a takeover? 

A. The NVRAM contains all the outstanding write operations that were pending to the node that was taken over. 

B. The NVRAM contains only the metadata operations that were pending to the node that was taken over. 

C. The NVRAM contains only the Snapshot copies that were pending to the node that was taken over. 

D. The NVRAM contains all the outstanding read operations that were pending to the node that was taken over. 

Correct Answer: D 

 

QUESTION 2

A client is attempting to mount a UNIX security style volume using NFSv4. The client receives the "permission denied"
message, but mounting NFSv3 works fine. You have confirmed both NFSv4 and NFSv3 are allowed in the export
policy. 

Which statement describes this behavior? 

A. Extended groups for AUTH_SYS are enabled. 

B. NFSv4 takes file permissions into account when mounting. 

C. There is no proper name-mapping rule for the user mounting. 

D. The export policy applied to the volume has superuser set to none. 

Correct Answer: A 

 

QUESTION 3

Users are complaining about slow file access. You suspect that the ONTAP cluster is causing the problem. In this
scenario, which ONTAP command would help you troubleshoot this problem? 

A. application show-statistics 

B. qos statistics volume latency show 

C. cluster log-forwarding show 

D. storage aggregate verify 

Correct Answer: D 

 

QUESTION 4
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Some users are unable to open certain files on an ONTAP SMB share. You verify that the users are able to open other
files on the share. 

Which action should you perform to troubleshoot this issue? 

A. Validate network connectivity from the users to the NetApp cluster. 

B. Check the share-level permissions. 

C. Check the access-based enumeration settings. 

D. Perform a security trace. 

Correct Answer: B 

 

Reference: https://kb.netapp.com/app/answers/answer_view/a_id/1071815/~/troubleshooting-cifs-or-smbaccess-denied-

 

QUESTION 5

Which statement is true about how ONTAP uses system memory? 

A. System memory is used as a read and write cache. 

B. System memory is used to protect local uncommitted writes against power failures. 

C. System memory is used as a read cache only. 

D. System memory is used to protect an HA partner\\'s uncommitted writes against power failures. 

Correct Answer: A 

Reference: https://kb.netapp.com/app/answers/answer_view/a_id/1003751/~/how-does-data-ontap-utilizesystem-
memory-for-read-and-write-caching%3F

 

QUESTION 6

Which routing protocol is required for virtual IP (VIP) LIFs? 

A. Open Shortest Path First (OSPF) 

B. Border Gateway Protocol (BGP) 

C. Intermediate System to Intermediate System (IS-IS) 

D. Routing Information Protocol (RIP) 

Correct Answer: B 

Reference: https://docs.netapp.com/ontap-9/index.jsp?topic=%2Fcom.netapp.doc.dot-cm-
nmg%2FGUIDA8EF6D34-1717-4813-BBFA-AA33E104CF6F.html 
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QUESTION 7

Click the Exhibit button. 

You create a new CIFS share named projectX. Users are unable to see the new share. However, they can see and
access the existing share named public. 

Referring to the exhibit, what should you do to allow users to access the new projectX share? 

A. Move the projectX volume to aggr1_01. 

B. Modify the projectX share permissions to allow access. 

C. Create an export policy rule to allow access. 

D. Update the load sharing mirror set. 

Correct Answer: C 

 

QUESTION 8

A customer reported an issue that requires more detailed diagnosis than what is provided in an AutoSupport message.
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The NetApp technical support engineer asked the customer to send a support bundle. 

In this scenario, which NetApp tool would satisfy this request? 

A. OnCommand Shift 

B. OnCommand Cloud Manager 

C. OnCommand Unified Manager 

D. OnCommand System Manager 

Correct Answer: C 

Reference: https://docs.netapp.com/ocum-95/index.jsp?topic=%2Fcom.netapp.doc.onc-um-
ag%2FGUID78B94C94-4B05-449E-BCFE-9249F16ED9A5.html 

 

QUESTION 9

Click the Exhibit button. 

Referring to the exhibit, if Node loses power, what are two nodes where epsilon would move? (Choose two.) 

A. Node D 

B. Node 

C. Node A 

D. Node C 

Correct Answer: CD 

 

QUESTION 10

Click the Exhibit button. 
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A customer noticed that data in volume Snapshot copies was using 200% of the total space allocated to the Snapshot
reserve. The configured value of the Snapshot reserve is 10%. The customer wants to maintain the current number of
Snapshot copies consuming below 100% of the Snapshot reserve. 

Referring to the exhibit, which action would satisfy the customer\\'s requirement? 

A. Increase the volume size by 50 GB. 

B. Set the volume\\'s fractional reserve to 0. 

C. Move the Snapshot copies to another volume. 

D. Set the Snapshot reserve to 25%. 

Correct Answer: D 
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